AR B Adk. #17

NORMAL DISTRIBUTION

For each question, construct a-normal distribution curve and label the horizontal axis, Then answer each
question,

(L) The mean life of a tire is 30,000 km, The standard deviation is 2000 km, 5
) Whet pereent Soalls within, one stemdord deviadion of the naeoo §
b) Loked peveent fPols helween 16,000 0md 30, 550 K,
&) Whak peveer Fuls betwee 31, 500" anD 26,600 km?
d) Loy FG{@(M Y %wgu}q_w Yoo 25,600 Km <

The shelf life of a particular dairy protuct is normally distributed with a mean of 12 days end a standard
deviation of 3 days;

a) About what percent of the products last between 9 ond 15 days?

b) Ahout what percent of the products lust between 12 and 15 days?

¢) About what percent of the products last 6 days or legs?

d) About what percent of the products last {5 or more days?

Eﬂ A line up for tickets to a local concert had an avérage (mean) waiting time of 20 minutes with a standard
deviation of 4 minutes,
a) What percentage of the people in ling walted for more than 28 minutes?
b) Lf 2000 ticket buyers were in line, how many of them would expect to wait for less than 16 minutes?

E’B The monthly income of 5,000 workers at the Microsoft plant are distributed normally, Suppose the mean
monthly income is $1,260 and the standard deviation is $260,
a) How many weorkers earn more than $1500 per month?
b): Kow many workers earn less than $750 per month? ; =
iy S .
¢) What percentage of the workers earn between 2 S7a~PARD Deviotion
d) What pereentage of the workers earn less than #/375, ™ ?

@In an-Oreo factory, the mean mass of a cookic s glven as 40 g, For quality control, the standard deviation
12 g.
a) Lf 10,000 cookies were prodused, how many cookies are within 2 g of the mean?
b) Cookied are rejected if they weigh more than 44 g or less than 36 g. How many coakies would you
expect to be rejected in a sample of 10,000 cookies?

A grading scale is set up for 1000 students' test scores, It is assuimed that the scores are normally
distributed with a mean score of 76 and a stondard deviation of 2+

Q) Whnrt perceat scored between @ AnD g25 .
B How nimny students scored between 52 anD AWS

@ Jolve: [log, (sk+4)=2

@ olve: 5L (x+2)=/5

@ Solves 2 Luxti)— fn(x-3)= fn3- L 2.
Solve \o%taxw %) —\oq(xra) = log 4 (5x-1)
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